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Invitation for Bids 

The Republic of the Union of Myanmar.

National Electrification Project

Credit No 5727-MM

Date: 20th January 2020

Contract Title: Installation of Distribution Lines and 

Transformers for Magway, Naypyitaw, Rakhine and Chin

Reference No: MOEE-NEP-P2/C1-W1/2020

1. The Republic of the Union of Myanmar has received 

financing from the World Bank toward the cost of the 

National Electrification Project, and intends to apply part 

of the proceeds toward payments under the contract for 

Installation of Distribution Lines and Transformers for 

Magway, Naypyitaw, Rakhine and Chin

2.  The Ministry of Electricity and Energy now invites 

sealed bids from eligible bidders for Installation of 

Distribution Lines and Transformers for Magway, 

Naypyitaw, Rakhine and Chin in the following locations

The number and identification of lots comprising this 

bidding process is:  

Lot 1: Magway Region – 60 Villages

Lot 2: Magway Region & Naypyitaw – 59 Villages

Lot 3: Magway Regoin & Rakhine State – 63 Villages

Lot 4: Magway Region – 66 Villages

Lot 5: Magway Region – 55 Villages

Lot 6: Magway Region – 41 Villages

Lot 7: Magway Region – 40 Villages

Lot 8: Magway Region & Chin State – 40 Villages

3.  Bidding will be conducted through the National 

Competitive Bidding procedures as specified in the World 

Bank’s Guidelines: Procurement of Goods, Works and 

Non-Consulting Services under IBRD Loans and IDA Credits 

& Grants by World Bank Borrowers (“Procurement 

Guidelines”), and is open to all eligible bidders as defined 

in the Procurement Guidelines. In addition, please refer 

to paragraphs 1.6 and 1.7 setting forth the World Bank’s 

policy on conflict of interest. 

4. Interested eligible bidders may obtain further 

information from Project Management Office (National 

Electrification Project), Project Manager and nep.

pmomoee@gmail.com] and inspect the bidding documents 

during office hours [09:30 to 16:00 hours] at the address 

given below.

5.  A complete set of bidding documents in English may 

be obtained free of charge by interested eligible bidders 

upon the submission of a written application to the address 

below. The Bidding Documents will be issued through 

email only.

6.  Bids must be delivered to the address below on or 

before 18th February 2020. Electronic bidding will not be 

permitted. Late bids will be rejected. Bids will be publicly 

opened in the presence of the bidders’ designated 

representatives and anyone who choose to attend at the 

address below.

7.  All bids must be accompanied by “Bid-Security” 

8. The address (es) referred to above is (are): 

Attention:  Project Manager

      Project Management Office (National   

  Electrification Project)

      Office Building No.27, Ministry of Electricity  

  and Energy

City: Nay Pyi Taw

Country: The Republic of the Union of Myanmar

Zip Code: 15011

Telephone: +95 67 3431175

Facsimile number: +95 673431176

Electronic mail address: nep.pmomoee@gmail.com
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